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DIRECT [ONS:

Do not open thls booklet until you are told to do so.

Thls 1s a test of your competence In high school mathematics. For
each problem there are l|lsted 5 possible answers. You are to work each
problem, determine the best answer, and Indlcate your choice by making a
heavy black mark In the proper place on the separate answer sheet provided.
You must use a pencll wlth a soft lead (No. 2 lead or softer).

This test has been constructed so that most of you are not expected to
answer al! questions. Do your very best on the questlons you fee! you know
how to work. You wll| be penallzed for incorrect answers, so It Is
advisable not to do wlld guessing.

'f you should change your mind about an answer, be sure fo erase
completely. Do not mark more than one answer for any problem. Make no
stray marks of any kind on your answer sheet. The answer sheets will not
be returned to you. |f you wish a record of your performance, mark your
answers In thls booklet also. You wll| be able to keep this booklet afiter
the test is completed.

When told to do so, open your test booklet to page 2 and begln. When
you have flnlshed one page, go on the the next. . The working time for the
entire test 1s 80 minutes.
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The expression x4-16 completely factored is

a)  (x2 - 4? b)
by (x2 + 42 e)
¢y (2 x -n4

1346 + 5150 simpliflies to

NiE

a) 13VZ +2V25 d)
b}  38vZ e)
c) 2vVi3 +5VZ
It..;i-_ -1, then x is

x + 1
a) 10 d)
b} 8 e)
c) 2

The converse of "If p, then q" ls:
a) 1f p, then not g d)
b) it g, then not p e)
c) If g, then p

To complete the square of 2x2 + 2x = b
sldes of the equatlon?

T )

1.

(x2 = 4) (x + 1) (x = 1)

(<2 + 4) (x +2) (x = 2)

2V/38

276

5

none of the above

If not p, then not q
1f not g, then p
what should be added to both

2

none of the above

When x = -2, v = =3 and z = 4, then x2 - xy Is
22 + Xz

al 7/20 d) -1/4

by /4 e} ~5/4

c) 5/4
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10.

t1.

x2 + 11x + 28 simplified fo lowest terms Is

x2 - 49

&) x - 4 & 47
x + 7

b)  x + 4 &) ~4/7
X = 7

c) x = 4
X =7

The value of f 371 = 2721 when simplitied Is

27!y 2
a) 4 d) 9
by 1/9 &) 1/64

c) ~1/6

If ab = 3/2 and ac = 5/2, then b/c Is

a) 15/ 4 d) 1/2
b) 2/3 e}l 4/15
¢y 3/5

fn the expression 4x3, 3 Is called the

al coefficlent d) base

b}  exponent e}  denominator

c) numerator

If d4x + 2y = Ox - 12 then y Is

al] 2x -3 d) 12 ~ 5
5 2

b) 5x - 12 e) 13x ~ 12
2 2

c) Ix -~ 2



12.

13,

14,

15.

16.
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An equation of the horizontal Ilne through (1, 1) is
a) y=-=x+5 dy y =1

by y =x + 2 el y = 3x+1

c) oy = 2x =1

If 2=m £ 4, then

al mx2 d} m > =2

by mx -2 e}  none of the above
c) m> =2

The length of a rectangle Is 3 meters less than twice the width.

perimeter of the rectangie Is 42 meters. The length and width of the

rectangle are
a) L=5, W=16 d) L=8 W=13

e) L

13
~4
-
=
B
L

by L

1]
o
~
=

"
(%]

H

c) L=13, W=28

What vailues of p make 3p2 + 9p + 30 = 2p2 - 2p a true statement?
a) {5, 6} d  fa, 3

by 8 e) {-5, -6}

¢} a repeated zero root

The distance between the polnts {6, 3) and (5, -4) Is

a) 57 d) 7
b) 8 @) none of these
c) 10
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17. The expresslion x +5 _x - 1 _ 10 can be simpllified to

x + 6 x + 1 x2+7x+6

al x =1 d) - 4
xZ + Tx + 6 (x +1) (x +6)
b) ] e) - 6
X + 6 X + b
c) - 4
x2 + Ix + 6
18. The value of the determinant 5 3 8 s
3 1 4
2 4 6
a) 16 d) 2
by 42 &)  -58

c) 0
19, If the two largest angles of a triangle are equal and the dlfference
between one of the equal angles and the third angle Is 30 degrees,

then the number of degrees in the third angle Is

a) 25 d) 55
b) 40 et 75
c) 50

20. The law of the lever can be expressed by the equation EA = rs. The

value of s when r = 20, E = 40 and A = 10 is

a) 20 d) 4
b) 2 @) 15
c) 40

21. The solution set for |2x + 3‘ 25 1s

al -4 5 x <1 d) -4 < x <1
b) X2-4 orx21 e) -4 £ x <1
c) X £ =4 and x 2 1



22.

23,

24,

25.

26.
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The expression xy - yw + xz - zw can be simplifled to

Xy + yw + xz + zw

al -1 d} 0
b) 1 e) X = w
X +ow

The graph of the equation y = 2x2 +5x +2 Is
a) straight line d) ellipse
b)  parabola e) hyperbola

c) clrcle

The function f(x) = ax® + bx - 1 has f(=3) = 26 and f(4) = 19.

Then b 1s
a) 1 2
by 3 e) -3
¢c) =2
The solution set for the system 5x + 2y =3 s
Tx = 5y = =1
a §1/3, 2/3) o {a, -0
by {3, 2} o) {t2/3, ~1/3)}

o) {815, -2/}
The complete factorization of 4x3 - 75+ 12><2 - 25 Is
a)  (x +3)%(2x - 5)(2x + 5) d) (2% = 5)(2x + 5)(x + 3)

b) (2% = 5)2(x + 33 e) none of the above

cl {x = 3)(2x + 5)(2x - 5)
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37,

38.

39.

40.

o———apierr

M

The coefficlent of x2 In the expansion of (x + 2)4 s
a) 32 d) 4
b} 8 8) 24
c) b
The solutlon for x - 2 <0 1s
X + 3

a) x<-3o0rx2z2 d}) -3 <x <2
b) =3 <x<2 e} x<<3o0r x>2
c) ~3<L<xxg2
The solution set of Ix + 1‘ = G is
a8, -10} ¢ fol
by {- 10} e) {el
¢) {-8, 10}
If a tfraln travels M miles In 5 hours, how many mites will 1+ travel
In K hours at the same rate?
al] K dy M

Com sk
b  5M e) KM

Pl 5
c) 5K









